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SECTTON A

1. Attsmpt aJ./ qnestious in brief.

7 Attempt any three of the

3. Attempt any zne part of the

4, Atten:pt arry otto par:t of the following:
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Qno Questions CO
data analyticstheDiscuss ofneed

t
fhe classificaticut data.Givc o1' I(c) Deilrre neulal netrvork.

2
(d) rnultivariate analysis'?ISWhar

2
) Give I{ 1'thc tull form iif A? and cliscuss 1ts J(lj san:pling1S\\,'har the role of indata a stream? 3

algoritirm.l)iscuss the use of iimited A+
(h) behind hierarchical technique?\Vhat is the

4
List five R functions used in

5
List the narnes of 2aIi1r

5

Qno Questions (:r(l
(a) compulation morielIixplain the and data 1

tlie use anrl o1'decision trees 2(c) fhe architccturc dataof streanr model.
-t(d) in cletail willlustrate the K-n;eans
4

ancl[]if1bn:ntintc hctrvecn
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(a) Ihc various data life I

lools in dr:tail.modern
I

cr0
{a) YAIIOUS ofCr:mpalc vectortypcs and$uppofi mcthotlskemcl ilataof 2

(h) data=Given 7 73,3,4.5{ ,(,, 5,J,6, thc,81 Computc pnncipal
PCA
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5. Attenrpt an-y one part of'the lbllowing:

6. Attempt any one part of the lbllowing;

1. Attempt any ofie part of the t'ollorving:

10*l = l0

I0*l = I0

l0*1 = l0
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Qno CO
( Explain anv

ilata strcam.
onc algnrithm t0 corutt numbcr of clistinct clcmcnts in a J

the case of strick market in detail. 1
--)

Qnu Questions CO
(a) 4
(b)

I'tD Items tsought
T100
T200 o N Y
T300 {M, A, K, tj}
'I'40{l

Y
15tl0 E

l)iffercntiatc between antl USProC,LcLlQUll
A database Itas 5 trirnsa,;lious. Let min*sup:60?6 ancl min conf:B0,lo.

i) Fjnd all ltequent
ii) List all the

Apriori algorithnr.
rules (lvith support s ancl

|.
:ritN,

Qno Qucstions clo
(a) the t{lVE architecture r,vith irs 5
('b) or not.1SWritc It ftinction to check whether: the 5
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